
(ul[b1dru t 2-1

<< $L-q<UeF 47113 0urt[ruqPnr{
qtr tutr2rlurh h urpgdrutr h p ur[bp [t

ilu urr ur [, h h]' iqlttiTff"n rtr b p Jr rlu u Jrtr

ubphurh shlh\nrf Unlnt2tru, @trC -tr hur{urumnrd h, nfr frpru!utr 2ulhurnnrLbpfr rluru[tt

trbptaulug,{r6 rnUqUqrurnr{nrplnrbp frpurlurL h tr th qurpnrtrut{nrrl n1 hurr[uruLnfr rnbqbt{nrplnrtrLbp:

ubptrurtr Sblbt4nrJ Unlnr2tru> OpC

Slropbtr' U.\uPurlutt
(utnnpr"uqpntplntLp)

11. S.3

3 unqb hwtlblylwtp 
'fi 

QttpQnul, bpb ryb hwutJtwtlttlnul t ttbllqftnttqfitt p4ulhtt uqn\wq\nrylw[p:

( qfo

h/h
Utrnrtrp Uqqurtrnrtip

(urlputrnrtrp

(( pur rl.upugfiLbPfi hrudur P'

tr n qtr u t q urtr u g dutr pur n m h t 
1 
ru rl rutr dU ur qn h

l,1ud (( opbtru4pnrplurdp trurfuurmbu{ud

r,utrd I hul u m ul m nr1 qh r,u um u pqph rn bu ur t,1 I tr

hurduPP

O rn ur p bp t1 ruur pur rlurpur g [L bp ft

hurtfi,u p hur ilr-uu1urrnr-uufuurL bnUnh

opbtr uqpn rp1tudp tr urfuurn bu{ub urtrb p

huumurmnrl {rurumurpqph mbuurQp tr

huJr.uPP

1

bptrurtr Sblblnd QPC untroPbtt

Upurd OPPbgurtt

urLdLurqfip AK 0682688

Lnn{bt | 28.12.2010p., 001 -fr lnrf,lJ.g

2 IurpuluL UpnLu1r.ull

tr n rltr ur L1 utr ur g durtr pur fi Ln 008049926

mn{bt h 03.07.2015p., 011-fr tlnq,Ihg


		2017-11-20T14:36:12+0600




